OEAEPAABHAS CAVJKBA IO HAA3OPY B COEPE 3APABOOXPAHEHWMA
1 COLUMAABHOIO PA3BUTIA

FEDERAL SERVICE OF HEALTH CARE AND SOCIAL DEVELOPMENT CONTROL

PEFTUCTPALIUOHHOE Y10CTOBEPEHUE
REGISTRATION CERTIFICATE
Ned®C3 2011/09950

oT 24 niona 2011 roaa Cpok neficTBHA: HE OrpaHUYeH.

Hacrosiiee yROCTOBEpEHHE BEITAHO

"Pendepr I'mo X", I'epmanus,

Renfert GmbH, Untere Giesswiesen 2, 78247 Hilzingen, Germany

M MOATBEPIKAAET, UTO H3JeNHe MEAULIMHCKOrO HasHaYeHHs (U3AenMe MEAMUHMHCKON
TEXHHKH)

Tpummep ajin 0Gpaborky 3yGHBIX MPOTE30B, BAPUAHTHI HcnoaxeHni: MT 3,

MT 3 pro, ¢ npuHagiaexnoctamu (cm. Ilpunoskenne na 3 ncerax)
NIPOH3BOJACTBA

"Pendepr I'moX", I'epmannsn,
Renfert GmbH; Untere Giesswiesen 2, 78247 Hilzingen, Germany
KNacc MOTEHIMANLHOro pUcKa 2a OKI194 5220

COOTBETCTBYIOLICE KOMILJIEKTY per ncmaunonﬂoﬁ AOKYMCHTalUH

KPJ N210329 ot 28.03.2011

npukazom Poczapasnanzopa ot 24 metia 2011 rona Ne3652-I1p/11

pa3peeHo K HMIIOPTY, NPOAaKe ¥ IPUMEHEHHIO Ha TeppUTOpHd Poccuiickoi
Degepariuu

Bpuo pyxosoautens ®enepa
mo Ha/x30py B chepe 3ApaBoo
¥ COLMATLHOr0 Pa3sBHTHS




OEAEPAABHASA CAVJKEBA T1TO HAA3OPY B COEPE 3APABOOXPAHEHWUA % ‘

1 COLUVAABHOTO PA3BUTNA
FEDERAL SERVICE OF HEALTH CARE AND SOCIAL DEVELOPMENT CONTROL

MPUJIOYKEHUE
K PETUCTPALIMOHHOMY Y/I0CTOBEPEHHIO

ATTACHMENT
Ne ®@C32011/09950

BT
Do o

Jver 1 Yy

R
Q 1. Tpummep ais 06paboTk 3yOHBIX NIPOTE30B, BapHaHTH! ucnoyHeHui: MT 3, MT 3 pro.
I1. TIpuHannexHoCcTH K TpUMMEpY Ang o6pabotku 3y6HbIx npote3oB MT/3:

1. llInanr qus Boast / Admission hose for-water. %
2. lllnaur cnyckroit 41x35 Mm, ceporo uBera, anuHa 1,5 M/ Outlet hose 41x35mm, grey, 1,5m i
long. . 0
3. Cronuk mns tpumMepa / Trimmer-table. Vo
4. Berxmouarens "Reed” / Reed switeh. & <
5. 3amxu asepusl, 4 . / Door lockers 4 pcs. '
6. ®napen recymuit / Flange MT3/MT3 pro complete.

7. Tpybka pacneuisiowasn / Spray-tube. A
8. Komnnekr uncTpymenTos /. Tools set: «
- KJIIOY ¢ IUECTHIpaHHOH ronoBkoit SW 8 / Key with a six-sided head SW §;

- BUHT ChEMHEBIA 1A Ganna/screw demountable for a flange:
9. Komnnexryromue / Hardware: OB
- konnadok M5 / cap MS5;
- YIITOTHEKHE OABOAAMIENo nanra/sealing of a bringing-hose; '«
- 3axxum mutaira TORRO 25-40/12 / consolidation of a bringing hose TORRO 25-40/12; >
- BUHT ¢ NoTaltHolt rofoBkoi M 6x25 MM A2 / screw with a secret head M 6x25mm A2;

wdd - BUHT C NOTailHOM rONOBKOM K3 ITACTMacCh! AMaMeTp-3x12 MM / screw with a secrét head from :
» plastic diameter 3x12 mm; ,«
¥ - wmnonxa mpusmatHyeckas Form D 8x7/key prismatic. ¥

- YIIOTHEHME pacnsusiiomeit TpyOku / sealing of a spraying tube. 4 ‘
10. Ynnotaenue asepus / Door’joint.

11. Hoxku pesuHoBrle, 4 . / Rubber bases 4-pes.

12. Msepuia / Door.

13. YnnotaeHue paspesnoro kosbua / Joint f.split ring.

14. Tuck Marathon Dia, 234 mM / Disc Marathon Dia, 234mm.
15. Tuck Infinity Dia, 234 mm / Disc Infinity Dia, 234mm.
16. Juck Klettfix Dia, 234 mm / Disc Klettfix Dia, 234mm.
17. Muck Klettfix, nanonuurens, 3epHHCTOCTS 80 /1w

fix, refill pack grain 80.

Bpuo pyxoBoauTens (Deuepa.nbﬂo
no Haa3opy B cdepe 3ApaBOOXpaHd
H CONHAJNDBHOIO PAa3BUTHHA

24 wiona 2011 roaa

O EG ]

N A

A '“‘

mm




B O

R A A VBN 1 o e e s

e SN M%wﬁ&\\ ///%m:&&

i ".,/ﬂ}% N e ‘3"';4#%&&%«

g OEAEPAABHAA CAYJXBA T10 HAA3OPY B COEPE 3APABOOXPAHEHW A
"; " COLIMAABHOTO PA3BUTUA

FEDERAL SERVICE OF HEALTH CARE AND SOCIAL DEVELOPMENT CONTROL

NPUIOYKEHHUE

) KPETHCTPALIMOHHOMY YAOCTOBEPEHHIO
P ATTACHMENT o
Ne ©C3 2011/09950 e

D 18. Quck Klettfix, HanonHuTens, 3epaucrocts 120 / Disc Klettfix, refill pack grain 120.
'{. 19. Bunt nns aucka tpuMMmepa / Screw for trimming disc.
>. 20. HaGop ymioTHUTeNbHBIX Konen s ¢pranna / Set of O-rings for flange:

- xonp1o AuaMeTp 136,12 MM TonuKHa 3,53 MM / ring diameter of 136,12mm, thickness of
3,53mm;

- Konbi1o nuametp 183,7 MM, Tomuuia 3,53 MM / ring diameter of 183,7mm, thickness of 3,53mm.
&  21. Bunka ycranosounas / Adjustable fork.

¥4 . 22. Bemouatens / On/Off switch MT3.

44 23. Konmauox samuTHBI s BeikMouarens / Cap on/off switch:

il 24. YerpolietBo Ui nojaun Bods! / Water supply

>‘ I1. TIpunannexsocT X TpuMMepy s 06paboTtky 3y6HbIX npoTe3oB MT 3 pro:

“®. 1. Ulnanr ana Bogs! / Admissionrhose for water.

2. llInanr cnyckuoit 41x35 MM, ceporo 1uBera, juiuHa 1,5 M4 Outlet hose 41x35mm, grey, 1,5m
long.

3. Cronuk s tpummepal Trimmer table.

4. Boikmouaress "Reed" /Reed switch.

5. 3amxu asepunl 4 wmt./Door lockers 4 pcs.

6. ®nanen Hecyumii /-Flange MT3/MT3 pro complete.

7. TpyOka pacnsuisitoniias / Spray tube.

8. Kommiext uHcTpyMenToB /Tools set:

- KJIOY C LIeCTUrpaHHoi ronoskoii SW 8 / key witha six-sided head SW §;

- BHHT ChEMHBIA st GnaHna/screw demountable for a flange.

9. Komnnextylomue/ Hardware:

- YIUIOTHEHHE TOJBOAALIETO NLTaHra/sealing of a bringing hose;

- 3akum mnanra TORRO 25-40/12 / consolidation of a bringing hose TORRO25-40/12;

- xonna4ok MS / cap MS5;

b - BUHT ¢ OTa#HOMK rofoBko# M 6x25 MM A2/ screw with a secret head M'6x25 Form D 8x7 mm
S A2;

> 8 - BuHT ¢ MOTaltHOH roJIOBKOM U3 IUaCTMAacehl Auametp 3x12 MM / screw, with a secret head from
. | plastic diameter 3x12mm; S Otl W ey,

o IR o 2 X

- °>5‘3*~..°’"w !

Bpuo-pykosoantens DexepalsHoil ey m
no Hag30py B cdepe 30paBOOXPaHEHHSE ?;2 :

H COUHAJBLHOro pa3sBuTHS 1% 2% \,
24 monsa 2011 roga NS

R R R G B

G G R NHRE ~GNR

7,
\{?ﬁ

¥ - xonsuo anamerp 34,52 MM, TommmHa 3;53 MM / ring diameter of 34,52 mm, thickness of 3,53mm;

E.A. TeabHoBa

016213

<t e T T

e

8

L = A R -
< LN

% !

A

H nd/ N\

3 E




i ' 4-3!

i o &

..d’% &\\ e J;Wéﬁw A T NN\\\ """""" M%m&\ﬁ\“ Mﬂ’%m&‘&\ ¥ _ﬁil%m

AN d%w&&n »ﬁ%w&\\n_ H

®EAEPAABHAS CAYXBA T10 HAA3OPY B COEPE 3APABOOXPAHEHWSA

W COLIVAABHOTO PA3BUTUA
FEDERAL SERVICE OF HEALTH CARE AND SOCIAL DEVELOPMENT CONTROL
TNMPUITIOYKEHUE
KPETUCTPALIMOHHOMY YAOCTOBEPEHHIO
ATTACHMENT -
Ne ©C32011/09950 -

- mnokKa npusmaruyeckas Form D 8x7 mm/key prismatic Form D 8x7 mm
- YIJIOTHeHMe pacnbuisionmeii TpyOxn/sealing of a spraying tube.

10. YnnotHenue asepust / Door joint.

11. Hoxxku pesuHoBele 4 uT./Rubber bases 4 pcs.

12. IIsepua /Door.

\//' ‘\\/ h:

13. Ynnotaerue paspessoro xonsla /Joint f.split ring.

14. quck Marathon Dia, 234 MM / Disc Marathon Dia, 234mm.

15. Ouck Infinity Dia, 234 mm / Disc Infinity Dia, 234 mm.

16. quck Klettfix Dia, 234 mm / Disc ’Klettfix Dia, 234mm.

17. Oucxk Klettfix, nanonuurens, seprucrocts 80/ Disc Klettfix, refill pack grain 80.

18. quck Klettfix, Hanonuurens; 3eprucrocts 120 / Disc Klettfix, refill pack grain 120.

19. Bunr ans gucka puMMepas/Screw for trimming disc.

20. HaGop ynnotHuTeNbHEBIX KOen mis dmanna /Set of O-rings for flange:

- KOJblo AuameTp 34,52 MM, TonmmuHa 3,53 MM / ring diameter of 34,52mm, thickness of 3,53mm:;
- Konbo auaMeTp 136,12 mmyronmuna 3,53 MM / ring diameter of 136,12mm, thickness of
3,53mm;

- xonplo auaMetp 183,7 mm, TonmuHa 3,53 MM / ring diameter of 183,7mm, thickness of 3,53mm.
21. Bunr perymupyembiit/Adjusting screw.

22. Yron ycranosouHhifi/Right angle gauge.

23. Brnox »nexrponnku/ Electronics:

- nara neyatHaa / printed circui;

- [IIaCTMAcCOBHIH JIMH30BBIM BUHT / plastic lense serew.

24, Tlpenoxpanutenb (16 A nnepruonHslit) / Set of fuses (Slow fuse 16 A).

25. YcrpoticrBo Ans noaaun BoAsl / Water supply.

Bpuo pyxosoauress Peaepanbnoi
no Haazopy B chepe 3apaBooxpaHen
H COLHAJLHOI0 PAa3BUTHUSA

24 mons 2011 roaa

E.A. TeabnoBa

016214
\%'M{/{m < nggy/w N\W’”WM" P

1§<<
w
§

i

PN vt S s e vy e et

A T ON g v PR e gy 20 3

TN T AT P 11



b e e N

B i

Ne dC3 2011/09950

Hacrosuee yn10CTOBEpEHHUE BHIIAHO

"Pendept I'mo X", I'epmanus,

Renfert GmbH, Untere Giesswiesen 2, 78247 Hilzingen, Germany

H MIOJTBEPKAAET, YTO U3/IENUEe METUITMHCKOTO Ha3HAYEH U (U3EIUE MEAUUMHCKOMN
TEXHUKH)

Tpummep 1 00padoTKH 3yOHBIX IPOTE30B, BADHAHTHI MCnto/iHeHnit: MT 3,
MT 3 pro, ¢ npuHaane:xkHocTamu (cM. [lpuioxenue Ha 3 aucrax)
HpOM3BO/ICTBA

"Pendepr I'moX", I'epmanus,

Renfert GmbH, Untere Giesswiesen 2, 78247 Hilzingen, Germany

KJ1acc MOTeHHHATLHOTO prcKa 2a OKI1.94 5220

COOTBETCTBYIOILCC KOMIIJIEKTY peFHCTpHHHOHHOﬁ JAOKYMECHTAIlUH

KP/I Ne10329 ot 28.03.2011

pazpetieHo K UMIIOPTY, IpoJaXxe HHPUMEHEHUIO Ha TEPPUTOPHH POCCHICKOH
Denepanuu

Bpuo pykoBoauTeas PenepabHoil cayKObI
110 Ha/Bopy B cdepe 3ApaBoOXpPAHECHHS E.A. TesbHoBa
H CONHAJBHOIO0 Pa3BUTHA

P oone o oyecs
e/ O P o0& 2 o

3
h
i
3
!
H
[
{

o o e e i B



Juer 1
Ne ©C32011/09950

I. TpumMep nns 06paboTku 3yOHBIX IIpoTe30B, BapuanThl ucnonxenuit: MT 3, MT 3 pro.
II. ITpuHaANEeXHOCTH K TpUMMeEPY U1 06paboTku 3yOHBIX TpoTe30B MT 3:

1. Inanr gns Boael / Admission hose for-water.

2. IlInanr criyckHott 41x35 MM, ceporo uBeta, uinHa 1,5 M / Outlet hose' 41x35mm, grey, 1,5m
long.

3. Cronux ans tpumMepa / Trimmer table.

4. Beixmouarens "Reed" / Reed switch.

5. 3amxu aBepisl, 4 mrt. / Door logkers 4 pcs.

6. Onanen Hecymwmit / Flange MT3/MT3 pro complete.

7. Tpy6bxa pacnsuisiomas / Spray tube.

8. Kommiext uHcTpymMeHTOB / T00ls set:

- KJIIOY C LIecTUrpaHHoM ronoskoi SW 8 / Key with a six-sided head SW §;

- BUHT ChEMHBIH 1115 ¢uiaHna/screw demountable for a flange.

9. Kommnexryromue / Hardware:

- xonmauok M5 / cap M5;

- YIUIOTHEHHE NoJBosAlIero nutanra/sealing of a bringing hose;

- 3axuM mnanra TORRO:25-40/12 / consolidation of a-bringing hose TORRO 25-40/12;
- BUHT C noTaitHo# ronoskoit M 6x25 mm A2 / screw with a secret head M 6x25mm A2;
- BUHT C NOTalHOM rooBKOMH U3 MnacTMacchl auamerp-3x12 mm / screw with a secret-head from
plastic diameter 3x12-mm;

- INOHKa npu3MatiHueckas Form D 8x7/key prismatic.

- YIUTOTHEHHE pachbuistowleit Tpyoku / sealing of 'a’spraying tube.

10. Ynnoraenue asepusl / Door joint.

11. Hoxxku pe3unoBsle, 4 mt. / Rubber bases 4 pes.

12. lIsepua / Door.

13. Ynnorsenue paspessoro konsua / Joint £8plit ring.

14. Tuck Marathon Dia, 234 mm / Disc Marathon Dia, 234mm.

15. Tuck Infinity Dia, 234 MM / Disc Infinity Dia, 234mm.

16. Muck Klettfix Dia, 234 mm / Disc Klettfix Dia, 234mm.

17. Nuck Klettfix, Hanonuurens, sepuuctocts 80 / Disc Klettfix, refill pack grain 80.

BpHo pyxosoautens ®eaepaibHoil Cay:KObI
no HAA30py B cdepe 3APaBOOXPaHEHHS E.A. TeasHoBa
H COLMAIBHOIO0 Pa3BUTHS

Wc/(/‘p/«% % < %ﬁ 508 U

Lo E 7

. AT A e RS AR o $ e e, i



JIner 2
Ne ©C3-2011/09950

18. Tuck Klettfix, Hanomaurens, 3epuucrocts 120 / Disc Klettfix, refill pagk grain 120.

19. BunT 1515 nucka tpummepa / Screw for-trimming disc.

20. Habop ynmnotHuTenbHbIX Konen s (uanua / Set of O-rings for flange:

- KoJ1bLI0 uameTp 34,52 MM, tosmuHa 3,53 MM / ring diameter of 34,52 mm, thickness of 3,53mm;
- kousip1io Auametp 136,12 MM TomnuuHza 3,53 MM / ring diameter of 136,12mm, thickness of
3,53mm,;

- Koubio mHametp 183,7 MM, TomuHa 3,53 MM / ring diameter of 183,7mm, thickness of 3,53mm.
21. Bunka ycranooynas / Adjustable fork.

22. Buikmouarens / On/Off switch MT3.

23. Konmavok 3amuTHLIH is BeIKTovaresns / Cap on/off switch:

24. YcTpoiicTtBo 4s nmojavd Bogsl / Water supply

I1. IIpuHanIeXXHOCTH K TPUMMEDPY Ui 00paboTky 3yOHBIX poTe3oB MT 3 pro:

1. Wnanr nuist Boasl / Admission hose for water.

2. Illnaur ciyckHoii 41x35 MM, ceporo usera, anuna 1,5 m/ Outlet hose 41x35mm, grey, 1,5m
long.

3. Cronux ans Tpummepa/ Trimmer table.

4. Brikmouatens "Reed” /Reed switch.

5. 3amku asepus! 4 mt./Door lockers 4 pces.

6. ®nanen necyuwmii ~Flange MT3/MT3 pro complete.

7. Tpybka pacnbuistonias / Spray tube.

8. Kommnexr uncrpymenros /Tools set:

- KJIIOY ¢ eCTUrpanHoi ronoskod SW 8 / key with a six-sided head SW §;

- BUHT ChEMHBIH 4 danna/screw demountable.for a flange.

9. Kommnexryromue/ Hardware:

- VIUIOTHEHKe HOABoAAIEero mnanra/sealing of'a bringing hose;

- 3axuM 1utaira TORRO 25-40/12 / consolidation of a bringing hose TORRO 25-40/12;

- xonmauok MS/ cap M5;

- BUHT ¢ TOTaiHOM ronopxoi M 6x25 mm A2/ screw with a secret head M 6x25 Form D 8x7 mm
A2;

- BUHT C [I0TalHOM I'OJIOBKOM M3 MIacT™Macchl AnaMetp 3x12 mum / screw with a secret head from
plastic diameter 3x12mm,;

Bpuo pykoBonutens PenepaibHoi ci1yKObI
no Haa30py B cdepe 3ApaBOOXPAHEHHSA
H COLHAJIbLHOIO Pa3BUTHSA

Z/.g/(//,z/eﬁ/ %:;‘ y” W 09 0. o

el o /T

E.A. TeanHoBa

e ey

S T ———



S TS

Jluer 3
Ne DC32011/09950

- mmnoHka npusMatuueckas Form D 8x7 mm /key prismatic Form D 8x7 mm.

- YILIOTHEHHE pacHbuIsioliet Tpyoku/sealing of a spraying tube.

10. Yonotsenue asepust / Door joint.

11. Hoxxu pe3unoBsle 4 mit./Rubber bases 4 pcs.

12. Isepua /Door.

13. Ynotrenue paspessoro konbua /Joint f.split ring.

14. Tucx Marathon Dia, 234 mMm / Disc’'Marathon Dia, 234mm.

15. Muck Infinity Dia, 234 mm / Disc Infinity Dia, 234 mm.

16. JTuck Klettfix Dia, 234 MM / Dise Klettfix Dia, 234mm.

17. Muck Klettfix, Hanonuurens,3epuucrocts 80/ Disc Klettfix/refill pack grain 80.

18. Jluck Klettfix, nanmomurens, 3epaucroctd 120 / Disc Klettfix, refill pack grain 120.

19. Bunt ang aucka rpummepa-/Screw for trimming disc.

20. Habop ynnoTHUTENBbHBIX KoJten A ¢iaHia /Set of O-rings for flange:

- KosIsI0 AuameTp 34,52 mm, TommuHa 3,53 MM / ring diameter of 34,52mm, thickness of 3,53mm;
- KoJb110 auametp 136,12 MmyTonmmuHa 3,53 mum / ring diameter of 136,12mm, thickness of
3,53mm;

- Koe110 auametp 183,7.mM, TommumHa 3,53 MM / ring diameter of 183,7mm, thickness of 3,53mm.
21. Bunt perynupyemslit/Adjusting screw.

22. ¥Yron ycranoounsii/Right angle gauge.

23. baox snextponuku/ Electronics:

- Inara neyaTHas / printed circui,

- IJIaCTMAcCOBBIH JIWH30BBIN BUHT / plastic lense serew.

24. Ilpenoxpanutens (16 A unepuuonHslii) / Set 'of fuses (Slow fuse 16 A).

25. YerpoiicTBo Ju1g mogauu Boasl / Water supply:

Bpuo pykoBoautens ®PenepaabHoi cayKObI
10 Haa30py B cdepe 3ApaBOOXpaHeHHS E.A. TeabHoBa
H COLHAJILHOTO Pa3BHTHA

%ﬁ‘ﬁ/@v %‘:{ . %L/ PG L o

ef e&

1A A

S S




